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Attempt all questions.

1. The data, which are collected from the units or individual respondents directly for the purpose of
certain study or information, are known as

(a) secondary data
(b) primary data
(c) ordinal data
(d) cardinal data

2. The point of intersection of the less than and greater than Ogive corresponds to

 {a) Geomeiricmean ' (b)" Median
‘(c) Harmonic.mean (d) Mean

3. Mean of 100 observations is 50 and standard deviationis 10. Afteradding 5 to each observation,

the new mean is
(a) 50 (b) 45
(c) 55 ‘ (dy 15
" 4. A andB are two independent events such that P(A®)=0.7, P(B®)=k and P(AUB)=0.8, then the value
of k is: _
(a) 5/7 , (b) 1
(c) 2/7 e - (d) 177

5. Let the random variable X ~ B(5,p) such that P(X=2) = 2P(X=3). Then, the variance of X is
(a) 1/9 (b) 9/10
" (c) 10/9 () 1/10
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6. LetX,, X,,..., X8 beiid N(0,0%) random variables. Further, letU=X +X,and V= Zil X,
the correlation coefficient between U and V is '

(@ 13 : (b) 1/2
(c) 1 (d o

7. Pearson’s correlation coefficient (r) is lies between:
@ 02<r<2 ®) -1<r<1
© 0<r<l (d) None of these

8. Which of the following is not present ina time series?

(a) Seasonality (b) Operational variations
(c) Trend | (d) Random variations

9

. The Laspeyres and Paasche index are examples of

~ (a) “Aggregate index numbers (b) Weighted price index oniy
(¢) Weighted index numbers (d) Weightedi qua-nﬁty index only

10.

11.

Records of births, deaths, marriages, and divorces, gathered througha registration system maintained
by governmental units, are referred to as

(a) Acensus. : (b) Demography.
(c) Vital statistics. | (d) None of these

B (Short Answer Type) 5%x4=20

For a certain distribution, the mean is 10, variance is 16, y, is +1and f, is 4. Find the first four

- moments about the origin.

12.
13.
14

15.

16.

17.

Define weighted average and show that al gebraic sum of deviation around mean is zero. -
What do you meant by partial correlation coefficient? Write down the formulae forR, ,;andr,, ,.

Define crude death rate (CDR) and age specific death rate (ASDR).

Acar has four traffic lights on its route. Fach of them allows it to move ahead or stop with Probability 0.5.

If X represents the number of lights passed before the car stops the first time, then show that
P(X=3)>PX=4). '

AW A

. C (Long Answer Type) Attempi any six of the foliowings (6x10=66)
What are the different measures of central tendency? Explain each with their merits and demerits.

What is an index number? Describe briefly the problems that are involved in the construction of an
index number of prices. Also describe the criteria of Good Index Number.



18.

19

[
S

21.

22.

23.

24.

25.

-3-

CanY=5+2.8X and X =3 = 0.5Y be the estimated regression equations of Y on X and X on 'Y
respectively? Explain your answer with suitable theoretical arguments. Also show that if one of the
regression coefficients is greater than unity, the other must be less than unity. ‘

(a) Define correlation coefficient and show that it is independent of change of origin and scale.

| (b) Explain the meaning of skewness and .kurtosis_. Also mention the nature of the curve if B is

equal to 3 and greater than 5.

. Ifthe correlation between the price relatives X and the quantity relatives Y is positive (negative), then

prove that Laspeyre’s index is less (greater) than Paasche’s index.

Explain the meaning of time series and also mention its important uses. What are the different methods
for measurement of trend in time series?

Describe the nature of the component of a time series. Explain the additive and multiplicative models
of a time series stating clearly the assumptions and discuss their relative merits.

Write short notes on any four (4)

©.(a) InfantMortality (b). Se_amnélVﬂrLiéﬁbﬂ._
(c) Method of Semi-Averages (d) Growth Curves
(e) T-Statistic _ (f) Moment Generating Functions

Define probability density function. Check the given functionis a probability density function. Hence,
find its mean and variance. . ’

f()=6x(1-x);0<x<1 = .

Prove that forneventsA ,A,,... A , we have

}?(CJA,J = z":P(A,.)— Y3 P(4 N4+ A (DT PN LN A)

i=1 i=1 Isi<j <n



